@ 6a ® 8a @ -8a ® 4a

® -6a



52

@ (—2x%y)3 x (2xy)? = 32x8y°
@ —4(x?)?%+2x* = -2
@ 2x3 x (=3x%) = —6x°

® 16x%y + 2xy X 4x = 32x>

rlo

Y

rlo



3. oW 449 2 + 3x- 55 Tshol @ 2L FEste] W3EY Fol
8x% — Tx+ 6 7 FIQIEk. BLEA AT e Fofelat

R

@ 5x%2-4x+1 @ 5x24+4x-1 @ T2 +x+4

@ 7x>-x-4 ® x> 4+x-4



4. x=2,y=-1<4 o, 2(x? - 3x) = 3x(x +y) + x? &] &S oot

D L
=%



6 = Aml A A= 1
e = LB ALE B
7219

@ 0.403 =

® 2518 =

403 - 2

99
2518 — 25

990




6. o

R Rt

oo

@ 5.274 @ 5.274 ® 5.274

@ 5.274 ® 5.2740



@ 9 ® 33 @ 90 ® 99

® 3



8. ()3 xuxty' =x1%% A o, m+ n 9 TS F5toit

D L
=%



9. 34 3% 4 3*S 7S] YERHE?

@ 3x+1 @ 33x @ 27X @ 3x+2 @ 3x+3



10.

el yaRKel
o A1 (—xy?z4)5 0.2 LRI Fho] (4x%)573)2 o] B[t} A8
A& oY

14

Z
D —16x13y20726 @ —8xTyls 2! .
@ _)C3y14

16 ® 8x16y10:8



11. 2a=x+1 %2 W, 2x-a+2 5 a°f T A o= HeRH?

D a+1 @ 3a-4 ® 3a
@ a ® 5a



ol
iS¢
o|J
o8

ol
Nfo

op

@ 5=4.90

® 0.4=0.39

2.9

@ 3

® —-0.7 = -0.69

@ -2.7=-2.69



13. G(x) = a®b* o2 W}, G(x) x G(2x) x G(3x) = G(Ax) &] A
st

D
=%

&

tlo



429

14. (bx-y+6)—( )=-2x+y-2°lA () St &gr

Tlo

® -7x-2y-8 @ -7x-2y+38 ® 7x+4

@ Tx-2y+8 ® 7x+38



15.

A=x?-2x+4,B=2x>-x+2,C = -2x>+34 W, A—{B-2(A+C)}
£ xof Bt Aoz e HE?

O -3x2-5x+16 @ -3x2+5x+9

® 3x2-5x+9 @ 4x>-5x+3

® —4x2 -5x+10



16. (x+y):(x-y)=3:1¢H, Xty o] gk2?
x—4y =



17. 2x2®x28 =64 Lo, [ et

@® 1 @ 2 ® 3



18. @ xb*xa xb* =a"b1% 4, x -y 9] ZLS -5t

D R
=%



7 ftagrt HES SHs a9 g Fotele (10 <



20. oo % 2 ggasz el spgolt. [ oto] our
pelo = atolat

~
T

rlo

20 22x5 22x5x5 100

9 9 9x| | _ 5

il



